
Chapter 12 

1. Find 1−f  for each of the following f . 
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8. Proof 

   ( )( ) ( )( ) ( ) 11 =′⋅′⇒=⇔= − xgxgfxxgffg        chain rule 
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15. Solution 

Look y as a function of x, derivative the equation: 4243 3223 =+−+ yxyyxx , then: 
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since the point ( )1,1−  is on the curve, thus: 
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∴ the equation of the tangent line at point ( )1,1−  is 1=y . 

 20. Solution 

  let ( )( ) ( )( ) ( ) 11 =′⋅′⇒=⇔= − xgxgfxxgffg        chain rule 

   
( ) ( )( ) ( ) ( )( )( )

( )( )( )
( )( ) ( )( )
( )( )( )

( )( )
( )( )( )3

22

1

xgf
xgf

xgf
xgxgf

xgf
xgfxg

xgf
xg

′
′′

−=

′
′′′

−=
′

′′
−=′′⇒

′
=′∴

 

( ) ( ) ( )( )
( )( )( )31

1
1

xff
xffxf

−

−
−

′

′′
−=

″
∴  

 


